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Mr. Schlansky Geometry

Triangles/Parallel Lines Review Sheet

1.In AABC,mZA=3x+1,mZB=4x-17 and mZC= 5x - 20. Which type of triangle is AABC?
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2. Triangle POR has angles that are in the ratio 2:3:5. Which type of triangle is /A PQR?
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3. In the diagram below of A HQOP, side HP is extended through P to T, mZQOPT = 6x + 20,

mZHQOP = x+40, and mZPHQ =4x—5. Find mZQPT. -
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4. In the diagram below, A4BC is shown with AC extended through point D.

Ifm/BCD =6x+2, m/BAC = 3x+15, and m£4BC' = 2x— 1, what is the value of x?
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5. In triangle SPY, m/S =35 and m£Y =7(°. What is the largest side of the triangle? What is
the shortest side of the triangle? /Q
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6. In AABC, mZA=45° and mZB =60° What is the largest side of AABC ? What is the
smallest side of AABC? 4 é O [SS 0
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7. Which set of numbers represents the lengths of the sides of a triangle?
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8. Which of the following cannotsmake up the three sides of a triangle?
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9. Given AABC with m/B = 62° and side AC extended to D, as shown below. (80 \\ .
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10. In the diagram below, SR = RA, m/SRA =40, and mZABE =30 . Find m/BEA .
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11. In the diagram belond ABH and BC are drawn. If m/FAB = 48° and

mZ/ECE = 18°, what is mZABC?
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12. In the diagram below, 4ZFB| CGD, and GE and GF are drawn.
If méﬁ‘g};\ 32° and mZCGE =43, what is mZEGF?
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13. Peach Street and Cherry Street are parallel. Apple Street intersects them, as shown in the

diagram below.
Apple Street

If ms1 = 2x+36 and m£2 = 7x - 9, what is m/1? B0 N Peach Street
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14. Line n intersects lines / and m, forming the angles shown in the diagram below.
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15. In the given triangle, all three medians are drawn in. If MS= 12, find
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16. In the given ?ngle, all three medians are drawn in. If OS =9, find
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